Iterative Learning Control

(or Adaptive Feed Forward)



- 1) Introduction
- 2) Basic Idea
- 3) First method Time reversed signal
- 4) Second method Inverse Cavity
- 5) Some Theory
- 6) Results Compare different Methods

Iterative Learning Control



Iterative Learning Control



The Problem:

The feedback output signal is delayed and/or phase shifted. Also the error signal E is delayed and/or phase shifted

Iterative Learning Control Introduction



Iterative learning control attempts to improve the transient response by adjusting the input to the plant (cavity) during future system operation based on the errors observed during past operation"

Iterative Learning Control Basic Idea



* Possible to use the error signal E instead or use both signals















We now have that an Input signal FB sent to the cavity gives an Output equal to Ref - E, that is:

What signal do we need to add to the input signal FB in the next cycle in order to make the error E disappear, in the next cycle. In theory (if the cavity is linear) we have after adding a signal A:

(1)

(2)

FB + A => Ref – E + C*A

Where C is the cavity response function.

So in order to make the error E disappear: -E + C*A = 0Or $C*A = E \implies A = C^{-1}*E$ (3) This means that we need to store $FB + C^{-1}*E$ in the feed forward buffer for the next cycle.



= (approx) = Ref







μs

480

500

520

460

0.98 420

440

Q-filter = 2.2 MHz Adaption factor = 1.0 Error Parameter estimation +/- 12 %

Iterative Learning Control Theory

In Frequency Domain:

 $L(j\omega) = Learning function$ $E^{k}(j\omega) = Error in iteration k$ $C(j\omega)$ = Feedback_PID $U^{k}(j\omega)$ = Learning in iteration k $P(j\omega) = Plant (Cavity)$ $Y^{k}(j\omega) = Output in iteration k$ Memory = Feedforward Buffer



ILC with feedback. Equations:

$E^{k+1} = Ref - Y^{k+1}$	(1)
---------------------------	-----

 $U^{k+1} = U^k + L^* E^k$ (2)

 $Y^{k+1} = P * U^{k+1} + P * C * E^{k+1}$ (3)

Using the above equations it is possible to derive the equation:

 $E^{k+1} = [1 - L^*P / (1 + C^*P)] * E^k$ (4)

And if we assume that the feedback, with the transfer function of

 $G_0 = [CP / (1 + CP)]$

is stable, then the learning converges if:

 $\|1 - LP / (1 + CP)\| < 1$ For all ω .



ILC with feedback and with L after Cpid

Learning converges if: $\| 1 - LCP / (1 + CP) \| < 1$

Iterative Learning Control Theory





Iterative Learning Control Results - Compare different Methods







Cavity Field Simulation 1 , Beam Starts at 440 μs



Thank You

Iterative Learning Control Second method Alternative explaination



Add a signal A to the input signal so that the output of A is equal to error E



Calculate A

A * C = EMultiply both sides with C⁻¹ => $A * C * C^{-1} = E * C^{-1} =>$ $A = E * C^{-1}$

